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ELECTIVE COURSE : ECONOMICS 

EEC-006 : PATTERNS OF ECONOMIC 
DEVELOPMENT : A COMPARATIVE STUDY 

Time : 3 hours 	 'Maximum Marks : 100 
(Weightage : 70%) 

Note : Attempt questions from each section as per instructions 

given under edch section. 

SECTION - A 
(Long Answer Questions) 

Answer any two questions from this section : 2x20=40 

1. Describe the background for the dependency 
thesis. What are the practical implications and 
limitations of dependency thesis ? 

2. Examine the character of the Meiji Restoration. 
Discuss the changes in the economic and social 
status of different groups in Japan in this context. 

3. What were the major problems in U.S.S.R. 
agriculture on the eve of the First Five Year Plan ? 

4. Critically analyse the Lewis model of economic 
development. Compare it with Bocke's approach. 
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SECTION - B 
(Medium Answer Questions) 

Answer any three questions from this section : 3x12=36 

	

5. 	What are the basic elements of centralised 
planning ? 

	

6. 	Define the following terms : 
(a) Net barter terms of trade 
(b) Gross barter terms of trade 
(c) Income terms of trade 

7. What are the main stages of growth in Rostow's 
model ? 

8. How did the First World War benefit the Japanese 
economy ? 

9. What were the measures taken by the Russian 
government to promote industrialisation in 
pre-war period ? 

SECTION - C 
(Short Answer Questions) 

Answer all the questions from this section : 3x8=24 

10. Distinguish between : 
(a) balanced growth and unbalanced growth 
(b) socialism and communism 

11. Explain the following concepts 
(a) Tokugawa 
(b) Imperialism 

12. Write short notes on : 
(a) Importance of railway boom for Britain 
(b) Semi-feudalism 
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